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Find the volume the prisms.  Be sure to show all steps when using a calculator.
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	3.  The length of a rectangular prism is 11 m, the width is 8 m.  Find the height if the volume is 1408 m3.







                                                     H=
                                        
	4.
[image: ]
                                                   V=

	5. A rectangular prism has a square base with side lengths that are 3.5 feet.  The prism stands 6 ft tall.  What is the volume of the prism?
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                                                           B = 13 ft
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	8.  Mr. Riojas is building his children a sandbox that is shaped like a triangular prism.  He uses 7-foot long wooden beams for each side of the base.  He measures the height of the triangular base to be  feet.  If he makes the sandbox 1 foot tall, how much sand will he need to fill it?  Round to the nearest cubic foot.

                                                     V=



image1.png
Edit View Document Comments Forms Tools Advanced Window Help

&) crmie &) Comtine - ) Cotsorie - Sece S~ [E) Fome - [ Mot~ S Cormer -

11 k| &R (@ e % - [ E

[£] How to use this D

=[] Grab and Go Chapter
Support Files

Chapter 1
Chapter 2
Chapter 3
Chapter 4
Chapter 5
Chapter 6

] chapter 7

] Chapter 8
] 8-1 Practice
] 8-2 Practice
] 8-3 Practice
[] 8-4 Practice
[] 8-S Practice
] 8-6 Practice
] 8-7 Practice
] 8- Practice
] 8-9 Practice
] 8-10 Practice
] -1 Reteaching
] -2 Reteaching
] -3 Reteaching

(Click to increase the magnification of the e

Find each volume. R

1. 2.
8ft
P
. 101t
8ft
a4 5.
14cm om
16 cm . 12m
14m
7 8.
u 101t

825x1088in <




image2.png
) 2's 23

Volume%200%20F £ ~ & X [ [P Pandora Rad... & wordpresscc..

()] M ntpww kutasoftware.comFreeWorksheets/GeoWorksheets!

X

@icomvert ~ P Select

x Norton- | |[Fo+
x Google - |0 search - | T share | More > Signin A -

o | [ 6 Facebook - (ORI @ Amazon 5 YouTube [ 45" Raeigh N~ G News ~ (] Fun Games - 3 ©. Options_~
BED 2%/ Y K| ©®[20% - gcomwbonter Ason | of (F ([fd -

850x1100in ¢





image3.png
[Fa

‘

9 Search - | 4 Share | More Signin A -

N C— - ]

[l 6 Facebook ~ DD EIRRO] | Amazon {5 YouTube (5 43 Raleoh. NC ~ £ News ~ [ Fun Games ~ 1 , Options_~

Sl $lT/e NG €|

© ® 0% - | g)colsborte- Fsgn- | o (@] e -

Il

}-4 4ir




image4.png




image5.jpg
“Top-Front View of a Hexagonal Prism
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Find the volume the prisms.  Be sure to show all steps when using a calculator.
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The length of a rectangular prism is 11 m, 


the width is 8 m.  Find the height if the volume 


is 1408 m
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5. A rectangular prism has a square base with 


side lengths that are 3.5 feet.  The prism stands 


6 f


t tall.  What is the volume of the prism?
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Mr. Riojas is building his children a sandbox 


that is shaped like a triangular prism.  He uses 


7


-


foot long wooden beams for each side of the 


base.  He measures the height of the triangular 


base to be 


7


13


16


 


feet.  If he makes the sandbox 1 


foot tall, how 


much sand will he need to fill it?  


Round to the nearest cubic foot.
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H = 5 ft


 


B = 13 ft
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7.                                                                                                                         V=                                                                                        8.    Mr. Riojas is building his children a sandbox  that is shaped like a triangular prism.  He uses  7 - foot long wooden beams for each side of the  base.  He measures the height of the triangular  base to be  7 13 16   feet.  If he makes the sandbox 1  foot tall, how  much sand will he need to fill it?   Round to the nearest cubic foot.                                                           V=  
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